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QUESTION 1

An engineer sets the CAPWAP heartbeat detection interval to 20 of the active link before an active/standby switchover
occurs?

A. 75s
B. 20s
C. 60s
D. 90s

Correct Answer: B

QUESTION 2
DRAG DROP
What is the correct procedure for a VLAN pool to assign terminals to VLANS.

Select and Place:

TA accesses the network through the
: assigned VLAN. 1

E VLAN pool bound 1o the VAP is
ned, and the VLAN assignment 2
___algorithm is specified.

Correct Answer:

Latest H12-821 Dumps | H12-821 Practice Test | H12-821 Braindumps 2/4


https://www.geekcert.com/h12-821.html
https://www.geekcert.com/h12-821.html
https://www.geekcert.com/h12-821.html

VCE & PDF https://lwww.geekcert.com/h12-821.html
2024 Latest geekcert H12-821 PDF and VCE dumps Download
GeekCert.com

he STA accesses the network through the
assigned VILAN

determined, and the VLAN assignment

\ The VLAN pool bound 1o the VAP 1S
aigorithm is specified.

\ The STA accesses a VAP, ‘

The STA Is assigned to a VLAN based on
the specified algorithm,

QUESTION 3

A local router runs IS-IS and its command output is shown in the following figure. Which of the following statements is
true?

<R1>display isis interface verbose
Interface information for ISIS(1)

i T (——— T T S e o | S S5 S o e,

Interface id IPV4.State IPV6.State Type DIS
S4/0/0 001 Up Down L1 -
Circuit MT State : Standard
\P Address #1004 112:0
Csnp Timer Value sl I ozttt 9.
Hello Timer Value il L ©
DIS Hello Timer Value s I
ipli lue 2
232:0 S i i e TOL2 10
Ipv6 Cost = 10 L2110
Retransmit Timer Value s RS

Extended-Circuit-1d Value : 0000000001

A. The circuit level of S4/0/0 is Level-1.

B. S4/0/0 supports IPv6.

C. S4/0/0 sends IIH packets at the interval of 30s.
D. The cost of S4/0/0 is 20.

Correct Answer: C

QUESTION 4

In the OSPF protocol, inter-area route calculation involves only Router LSA, Network LSA, and Summary LSA.
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A. TRUE

B. FLASE

Correct Answer: A

QUESTION 5

Which of the following statements is false?

A. If the current DR fails, the current BDR automatically becomes a new DR, and a BDR will be elected again.
B. A device with a higher router priority has a higher election priority.

C. When a router with the highest router priority joins an OSPF network, this router will become the new DR.
D. If two devices have the same router priority, the device with a larger router ID has a higher election priority.

Correct Answer: A
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